Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Athletic Department

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ATHLETIC	ALUMINUM ATHLETIC EXTENDED PRICE		EXTENDED	METUCHEN	EXTENDED		PYRAMID EXTENDED PRICE
1	6	ea	Hand Held Timers	Champion Sports DC100	\$26.00	\$156.00	\$4.41	\$26.46	\$21.90	\$131.40	\$16.20	\$97.20
2	3	ea	Surge Protectors								\$12.00	\$36.00
3	5		Extension Cord 50 feet								\$17.99	\$89.95

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Athletic Department

ITEM NO.	QTY	иом	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	STADIUM UNIT PRICE	STADIUM EXTENDED PRICE	TRIPLE CROWN UNIT PRICE	TRIPLE CROWN EXTENDED PRICE
1	6	ea	Hand Held Timers	Champion Sports DC100	\$20.50	\$123.00	\$18.00	\$108.00
2	3	ea	Surge Protectors				\$21.00	\$63.00
3	5	ea	Extension Cord 50 feet				\$24.00	\$120.00

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Field Hockey

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	ALTERNATE BID ITEM	METUCHEN CENTER UNIT PRICE	EXTENDED		SPORTSMEN'S EXTENDED PRICE		STADIUM EXTENDED PRICE
				Chingford Multi-Turf Balls -	Penn Monto Multi-Turf						
4	9	dz	Field Hockey Balls	Orange	Ball Orange			\$44.00	\$396.00	\$51.00	\$459.00
5	1	dz	Field Hockey Balls	Chingford Multi-Turf Balls - Yellow	Penn Monto Multi-Turf			\$44.00	\$44.00	\$51.00	\$51.00
		uz.	Tiola Flooricy Ballo	Chingiera Wali. Fair Balis Fellow	Dan Tonow			ψ++.00	ψ++.00	ψ51.00	ψ51.00
6	3	ea	Scorebook	NFHS Official Scorebook	No Alternate	\$14.95	\$44.85	\$5.00	\$15.00		
7	4	ea	Rulebook	NFHS Field Hockey Rule book	No Alternate	\$12.95	\$51.80	\$12.00	\$48.00		

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Boys Soccer

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	BSN UNIT PRICE	EXTENDED	METUCHEN CENTER UNIT PRICE	EXTENDED		PYRAMID EXTENDED PRICE	RIDDELL UNIT PRICE	RIDDELL EXTENDED PRICE
8	2	ea	Ball Bags	Nike			\$24.99	\$49.98				
9	1	ea	Scorebooks	Brine	\$5.62	\$5.62	\$5.95			\$5.40		
10	15	ea	Soccer balls	"Phantom" balls by Brine - navy	\$24.07	\$361.05	\$22.90	\$343.50	\$22.25	\$333.75		
11	9	ea	Soccer balls	"Championship" balls by Brine	\$36.56	\$329.04	\$37.50	\$337.50	\$37.80	\$340.20		
12	25	pr	Soccer Socks	Nike, navy	\$4.55	\$113.75						
13	25	pr	Soccer Socks	Nike, white	\$4.55	\$113.75						
14	1	box	Goal Clips		\$35.42	\$35.42						
15	60	ea	Training Vests	15 - blue, 15 - red, 15 - yellow and 15 - green	\$1.17	\$70.20	\$7.95	\$477.00	\$1.69	\$101.40	\$4.25	\$255.00
16	75	pr	Socks	Twin City Solid Navy Blue	\$3.66	\$274.50	\$2.05	\$153.75			\$4.45	\$333.75
17	75	pr	Socks	Twin City Solid White	\$3.66	\$274.50	\$2.05	\$153.75			\$4.45	\$333.75

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Boys Soccer

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	SPORTSMEN'S UNIT PRICE	SPORTSMEN'S EXTENDED PRICE	STADIUM UNIT PRICE	STADIUM EXTENDED PRICE	TEAM EXPRESS UNIT PRICE	TEAM EXPRESS EXTENDED PRICE	TRIPLE CROWN UNIT PRICE	TRIPLE CROWN EXTENDED PRICE
8	2	ea	Ball Bags	Nike					\$21.90	\$43.80		
9	1	ea	Scorebooks	Brine	\$8.00	\$8.00						
10	15	ea	Soccer balls	"Phantom" balls by Brine - navy	\$28.00	\$420.00	\$30.00	\$450.00				
11	9	ea	Soccer balls	"Championship" balls by Brine	\$42.00	\$378.00	\$48.00	\$432.00			\$42.00	\$378.00
12	25	pr	Soccer Socks	Nike, navy					\$6.11	\$152.75		
13	25	pr	Soccer Socks	Nike, white					\$6.11	\$152.75		
14	1	box	Goal Clips									
15	60	ea	Training Vests	15 - blue, 15 - red, 15 - yellow and 15 - green			\$2.15	\$129.00			\$1.70	\$102.00
16	75	pr	Socks	Twin City Solid Navy Blue	\$3.85	\$288.75	\$3.25	\$243.75	\$3.23	\$242.25		
17	75	pr	Socks	Twin City Solid White	\$3.85	\$288.75	\$3.25	\$243.75	\$3.23	\$242.25		

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Girls Soccer

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	BSN UNIT PRICE	EXTENDED	METUCHEN CENTER UNIT PRICE	METUCHEN CENTER EXTENDED PRICE		PYRAMID EXTENDED PRICE	RIDDELL UNIT PRICE	RIDDELL EXTENDED PRICE
18	70	ea		Adidas Practice Ball or Nike premier team ball or	\$15.80	\$1,106.00	\$12.45	\$871.50				
19	3	ea	Scorebooks	Brine	\$5.62	\$16.86	\$5.95	\$17.85	\$5.40	\$16.20		
20	70	pr	Socks	Twin City Solid Navy Blue	\$3.66	\$256.20	\$2.05	\$143.50			\$4.45	\$311.50
21	70	pr	Socks	Twin City Solid White	\$3.66	\$256.20	\$2.05	\$143.50			\$4.45	\$311.50

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Girls Soccer

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)		SPORTSMEN'S EXTENDED PRICE	STADIUM UNIT PRICE	STADIUM EXTENDED PRICE	TEAMEXPRESS UNIT PRICE	TEAMEXPRESS EXTENDED PRICE
18	70	ea	Practice Soccer Balls	Nike premier team ball or Adidas Practice Ball					\$18.82	\$1,317.40
19	3	ea	Scorebooks	Brine	\$8.00	\$24.00				
20	70	pr	Socks	Twin City Solid Navy Blue	\$3.85	\$269.50	\$3.25	\$227.00	\$3.23	\$226.10
21	70	pr	Socks	Twin City Solid White	\$3.85	\$269.50	\$3.25	\$227.00	\$3.23	\$226.10

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Volleyball

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	BSN UNIT PRICE	EXTENDED	METUCHEN CENTER UNIT PRICE	EXTENDED	PYRAMID UNIT PRICE	PYRAMID EXTENDED PRICE	RIDDELL UNIT PRICE	RIDDELL EXTENDED PRICE
23	5	ea	Volleyball scorebooks	Big Red Volleyball scorebook								
24	20	ea	Volleyballs	Spalding VB5 Tournament Ball - white	\$42.55	\$851.00	\$47.90	\$958.00				
25	20	ea	Volleyballs	Spalding VB5 Tournament Ball - red/white/blue			\$47.90	\$958.00				
26	18	ea	Shorts	Mizuno Vortex style #440202, 4" inseam, navy, S-15, M-10, L-5	\$15.83	\$284.94	\$17.30	\$311.40	\$15.35	\$276.30		
27	36	ea	Shorts	Under Armour style 1232843 React 4" inseam black, 12- small, 12- medium, 12- large	\$16.00	\$576.00	\$15.50	\$558.00				
28	1	ea	Volleyball Hammock	Navy	\$96.43	\$96.43			\$87.00	\$87.00	\$135.45	\$135.45

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Volleyball

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)		S&S WORLDWI DE EXTENDE D PRICE	SPORTSM	_		STADIUM EXTENDE D PRICE	TEAMEXP RESS UNIT PRICE	TEAMEXP RESS EXTENDE D PRICE	TRIPLE CROWN UNIT PRICE	TRIPLE CROWN EXTENDED PRICE
23	5	ea	Volleyball scorebooks	Big Red Volleyball scorebook									\$5.20	\$26.00
24	20	ea	Volleyballs	Spalding VB5 Tournament Ball - white			\$42.00	\$840.00	\$42.50	\$850.00	\$42.89	\$857.80		
25	20	ea	Volleyballs	Spalding VB5 Tournament Ball - red/white/blue			\$42.00	\$840.00	\$42.50	\$850.00	\$42.89	\$857.80		
26	18	ea	Shorts	Mizuno Vortex style #440202, 4" inseam, navy, S-15, M-10, L-5					\$17.00	\$306.00	\$15.93	\$286.74	\$19.00	\$342.00
27	36	ea	Shorts	Under Armour style 1232843 React 4" inseam black, 12- small, 12- medium, 12- large			\$18.00	\$648.00	\$17.25	\$621.00	\$16.25	\$585.00	\$18.70	\$673.20
28	1	ea	Volleyball Hammock	Navy	\$107.04	\$107.04	\$125.00	·			·		·	-

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Girls Swim and Diving

ITEM NO.	QTY	UOM	ITEM	Requirements Brand, Model,	ALUMINUM	ALUMINUM ATHLETIC EXTENDED PRICE		EXTENDED	METUCHEN	EXTENDED		PYRAMID EXTENDED PRICE
29	6	ea		Robic SC-505 multi mode chronograph 5 lap memory	\$22.00	\$132.00	\$17.47	\$104.82			\$16.00	\$96.00
30	2	ea	Air Horns	Falcon					\$10.95	\$21.90		
31	3	set	Diving Cards									

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Girls Swim and Diving

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	S&S WORLDWID E UNIT PRICE	S&S WORLDWID E EXTENDED PRICE	SPORTSME N'S UNIT PRICE	EXTENDED		STADIUM EXTENDED PRICE	TEAM EXPRESS UNIT PRICE	TEAM EXPRESS EXTENDED PRICE	TRIPLE CROWN UNIT PRICE	TRIPLE CROWN EXTENDED PRICE
			Stop	Robic SC-505 multi mode chronograph 5 lap										
29	6	ea	watches	memory	\$17.80	\$106.80	\$15.00	\$90.00	\$17.75	\$106.50	\$17.79	\$106.74	\$16.50	\$99.00
30	2		Air Horns	Falcon	\$13.82	\$27.64	\$14.00	\$28.00	\$8.20	\$16.40			\$10.50	\$21.00
31	3		Diving Cards										\$11.00	\$33.00

Request for Athletic Dept Supplies 2015-2016 School Year

Bid # 15-030-BOE

Sport: Waterpolo

ITEM NO.	QTY	UOM	ITEM	DESCRIPTION (Specification Requirements Brand, Model, Catalog, Page no.)	BSN UNIT PRICE	EXTENDED	METUCHEN CENTER UNIT PRICE	METUCHEN CENTER EXTENDED PRICE		PYRAMID EXTENDED PRICE
32	4	ea	Water Polo Balls	Mikasa Mens size 5 blue/yellow	\$27.58	\$110.32	\$27.75	\$111.00	\$24.00	\$96.00